MONTAGEANLEITUNG
KICKER




PARTS

LIST (ADULT ASSEMBLY REQUIRED) TEILELISTE

#1
—

SCHRAUBE
T4 x 10mm Screws
56 pcs (56 STUCK)

#2

el

SCHRAUBE

T3.5 x 30mm Screws
20 pcs (20 STUCK)

#3

SCHRAUBE

5/16" x 1" Bolts
16 pcs (16 STUCK)

#4
PLASTIK

UNTERLEGSCHEIBE

5/16" x 23mm Washers

16 pcs (16 STUCK)

#5
~

SCHRAUBE
D5 x 1-1/2" Screws
8 pcs (8 STUCK)

#6

g

SCHRAUBE
8# x 5/8" Screws
2 pcs (2 sTUCK)

#H7
oz

SCHRAUBE
8# x 1-1/8" Bolts

26 pcs (26 STUCK)

#8
a0)
MUTTER

8# Nuts
26 pcs (26 STUCK)

#9

KUGELPFANNE

Ball Cups
2 pes (2 STUCK)

#10
Co)

BEINJUSTIERSCHRAUBE

Leg Levellers
4 pcs (4 STUCK)

#11

BALLEINWURFSCHALE

Ball Receivers
2 pcs (2 STUCK)

#12

BALL—BOX
Ball Collectors
2 pcs (2 STUCK)

#13

KUGELFUHRUNG
Ball Return Tubes
2 pcs (2 STUCK)

#14

MANUELLER TORZAHLER

Slide Scorer
2 pcs (2 STUCK)

#15

ENDKAPPE
Cambered Aprons
4 pcs (4 STUCK)

PR !

#17

#18

/

MITTELFELDSTANGE

#19

/

STURMSTANGE

#20

/

VERTEIDIGUNGSSTANGE

KICKERFIGUREN SPIELER-STOPPRING 5-SPIELERSTANGE 3-SPIELERSTANGE 2-SPIELERSTANGE
(Black&White) Players Bushings 5-Man Rods 3-Man Rods 2-Man Rods

22 pcs (22 STUCK) 4 pcs (4 STUCK) 2 pcs (2 STUCK) 2 pcs (2 STUCK) 2 pcs (2 STUCK)
#21 #22 #23 #24 #25

/

Q)

>

O

TORWARTSSTANGE PLASTIK
1-SPIELERSTANGE UNTERLEGSCHEIBE GUMMIPUFFER HANDGRIFF SICHERHEITSKAPPE
1-Man Rods Plastic Washers Bumpers Rod Handles Rod End caps
2 pes (2 STUCK) 16 pcs (16 STUCK) 16 pcs (16 STUCK) 8 pcs (8 STUCK) 8 pcs (8 STUCK)
#26 #27 #28 #29 #30
@ <) <o) b

COKE cU KICKERBALLE SCHRAUBE SCHRAUBE IMBUSSCHLUSSEL
Cups y Soccer Balls Screws T4 x 10mm Screws Allen

2 pcs (2 STUCK) 2 pcs (2 sTUCK) 4 pcs (4 STUCK) 4 pcs (4 STUCK) 1 pc (1 sTUCK)

A B C D E

SEITENPLATTE
Long-side Boards
2 pcs (2 STUCK)

ENDPLATTE
Short-side Boards
2 pcs (2 STUCK)

&

ZIEL END BOARDS
Goal End Boards
2 pcs (2 STUCK)

TOP—BOARDS
Top Boards
2 pcs (2 STUCK)

P

SPIELFELD
Playfield
1 pc (1 STUCK)

F

v_.o
AN

RECHTES BEIN
Legs
2 pcs (2 STUCK)

G

\ o A/
LINKES BEIN
Legs
2 pcs (2 STUCK)

~.

STUTZELEMENT

Playfield Support Braces

2 pcs (2 STUCK)




STEP 1
SCHRITT 1

STEP 2
SCHRITT 2












